Py

Racing Screers

MOTOPLASTIC, S.A.

Tel. +34 93 849 06 33

Pg de la Ribera, 29 - Granollers (Barcelona) SPAIN
- info@puigusa.com
- www.puigusa.com

info@puig.tv
www.puig.tv

CARENABRIS PARA - WINDSHIELD FOR - WINDSCHUTZSCHEIBE FUR

DRILL MACHINE

€ TORX

L L T30
N° 3 T30

DRILL @10

l
/

T

1 persona
1 person

20 min

Facil - Easy

IMedia-Intermediate

Dificil-Difficult

DESCRIPTION

QY.

1 ' Pantalla Windshield 1 9867F/H/N/WM3

2 'g ‘i Plantilla Template 1 PLANT-V1----9867

3 @ Silentblock M5 M5 Silentblock 4 | SILENBTM5-046/1
-

4 ' Tornillo M5x16 @11 1SO 7380 M5x16 @11 screw I1SO 7380 4 TORNI-17380-493

5 Arandela de nylon M5x1 M5x1 nylon washer 4 | ARNV0000000245

6 @ Tapén tornillo M5 M5 cap screw 4 | TAPON-------- 85

Pg. 1/3

Created by: www.rrdisseny.cat



A MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
P”'g Pg de la Ribera, 29 - Granollers (Barcelona) SPAIN
. info@puig.tv - info@puigusa.com
Racing Screerns www.puig.tv - www.puigusa.com

CARENABRIS PARA - WINDSHIELD FOR - WINDSCHUTZSCHEIBE FUR

Pg. 2/3



A MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
P”'g Pg de la Ribera, 29 - Granollers (Barcelona) SPAIN
. info@puig.tv - info@puigusa.com
Racing Screerns www.puig.tv - www.puigusa.com

CARENABRIS PARA - WINDSHIELD FOR - WINDSCHUTZSCHEIBE FUR




